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MATHEMATICS
(Honours Geﬁeric / Regulaf).
For Honours Generic. -
Attempt either MAT-HG-1016 or MAT-HG-1026
ForvRegular ' |
Attempt MAT-RC-1016

The figures in the margin indicate
full marks for the questions.

Answer either in English or in Assamese.

OPTION-A
Paper : MAT-HG-1016/MAT-RC-1016
(Calculus)
Full Marks : 80
Time : Three hours

_Cbntd. :



1. Answer any ten questions : 1x10=10
Ricre w2by et e gt ¢

|
: WL | () Is f(x)=sinx one-one on the interval
(@) Find the value of sin1680°. |

[0, z] 2
: sin 1680° 3 1 Bferda . [ f( ) sinx TECOI [0 77.'] SIAETO PP
(b) Write the range of the function 3 ?
2 ‘ : |
: f(x)=2+x2x+4- | (g9 1s the ~function f(x)=+v4-x?
| continuous over its domain [* 2,2]'2
£x)= @e o3 Ll 1 - [2,2] wiferEae o f(x) Ja R

and wffb 2 2
(c) Write the equation which shifted the .
graph of the equation x2 y? =.49 into ' i (h) What is the nth derivative of gax ?
3 units down and 2 units left. e™ I noy SRETEH! 6 292
(i) State whether the statement is true or

x? +y27 = 49 IR (FIGRE 3 9o SF (A false :
VIR 2 OFF ST AT 9 TN The function y=|x| is differentiable
Tieneay | | in (— 0, O) and (O, oo).
) oo SfSh! o161 F g foTail ¢ T y =| x|,
(d) Find (3 Refy 1) 2 cos™ x + cos (- x) | ‘ y=|x]|
(= o0, 0) ®MF (0, o) TTACTS SR |
(e) Find (35 ]’;‘{q’-q ) ¢ lim sin g - () Write the Maclaurin series for gx.
T | o* T CRERA (D! frd
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(k) If chl_i’}z flx)= 3 then find the value of

()

(m)

lim 36+ f(x)

x—a

Im  lim f(x)=3 Cots

xXx—a

lim 36+ f(x) 3 i Refa 01

x—=>a

, .
Find the value of S (arc st g]

sin [arc sing-]. 3 S & el =t |

State whether the statement is true

or false:
The function f(x)=cosx is

increasing in the interval [0, z].
oo st ot @ fir forit e

T f(x) = cosx, [0, 7] RIS T4
|
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W

n)

(o)

(v)

()
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State the Leibnitz theorem.

ARRGEE TAAI! e |

Find the average rate of change of

y= x%+1 w. 1. t. x over the inteﬁal
[3, 5]

x ACATE [3,5] RGN yz'x2+]_ 9 9%
o9 W Tfeeat |

Sketch the graph of y=| x| shifted
2 units to the right and 1 unit down.

2 T EHFICE 9% 1 I Oeics] BHIES
B, y=| x| FTEEOR @ G 9|

State whether the statement is true -
or false:

An equation of a curve of degree n
has at most n asymptotes.

O Bfels! Aol (i foa g
@6l n IO ITF TN TGS n
GG SR

Contd.



(r) State whether the.‘ statement 1is true : (c) Sketch the graph of thée function

or false: _ f(x)=%¥x and find its domain and
The slope of the tangent line to the : AL
curve y=x2+4x+7 at x=1 is 6. |
' : flx)=¥x TENER (& AP WA TE
T e 6t o i e wifreTg Wi AR Senda |
x=1 ﬁ"‘i_\'?y=x2+4x+7 Jqq TR f() =
= . x)-
2Rl 6| ‘ (d) If lim =————=1 then find
_ x4 x-2
2. Answer any five questions : 2x5=10 chi_rz"z f(x).
izt Flisb) e[ Ted wan ¢ % ( )- -
: I lim JRE=5 g cor lim fl(x) 5
(@) Evaluate (I @ 1) ¢ | | i st
esinx a7 ' . ) i ﬁcﬁ <9 | _
im —— ,
x—0 X ’ (e) If (IM) f= x? +y? + 22, then prove that
(T AWl 4 (@)
1 | of of _of
3
. A iy pz =9
(b) Show that. f(x)= i;— and g (x)= (4x)3 % ox et oy L 0z I
are inverses of one another. ’
. i () Prove that (&9 41 ()
o 3
@ya @ f(x)=xT o g (x)=(4x)" <
SR [efee | | arc sinx + arc cos x = %
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3. Answer any four questions : 5x4=20

@) Find the derivative of tan x w.‘r.t. sin X. Rzl SIEET oieE Tes Tl g
i < | d
sin x AATE tan x I SKFS Teredt | (@) Find Ey if y? = %2 + sinxy

. ()= Sx=l1, w1l Exg%ﬁ@mﬂﬁ R
(h) If the function f‘x a2 | is

continuous everywhere, thenlﬁnd the (b) Show that the point (2, 4) lies on the

T R a curve x> +y>-9xy=0. Also find the
5x—1, x<l ~ tangent and normal to the curve at
| . f med @ (2,4) B X +y° -9xy =0

w@rﬁm@%wﬁfﬁzﬁmkamﬁ@@“. j T SIS WIR| A (2, 4) Fge ke

| % SioeTEa AN Sel |

G I y:easfﬂ‘IX, prove that
' (c) Show that the area of the triangle ABC
(1—x2)y2 - xy; —a’y=0.

1 :
is —bcsin A
ﬂﬁ y =ea5in_1x, Cor% edle 9 @ 1S 2 i

(1-x?)y, - xy -a’y =0 Cﬁ"i@ﬁTﬂABCﬁW‘@[%%bcsinA
() Show that Im — e does not exists. (d) Evaluate using L’Hospital’s rule :
x .
oo & FoPrei A et IR T Fefd w1 2
.lim - ]
Cﬁ"i@m @, )lczz(n) e 1?5_ Rl -0\ x?2  sin?x
y—0 y ‘
3 (Sem-1/CBCS| MATHG/RC/G 9 Coritd.
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ou
(h) Using definition find —= at (@5 1) it

(e) Find the maximum and minimum value 0x
of the function. | 2Y%+2Ye=5 . : 1
B ey e
Y=o —2x+ % +6 . X2 +y2
Wy=x3—2x2+x+6gﬁ%mﬂ% oy
Wi Sfereat | 3a el IR (1,1) ﬁ"f‘waﬁmﬂ&@%@@
() Apply -6 definition to show that the - o 1
following function is continuous at x=0 P %2 A
f(x) _Jx sin—,  x=#0 , :
5 %% 0 4. Answer any four questions: 10%x4=40
, X = g firaiza Sifaor 2w el Tl &
|
-6 @ A IR (14T (X O T g (@ () State and prove Rolle’s theorem.
x=0 [aﬁ\') “ilﬁfﬁiﬂl I ‘ : 5
- T TAAMGR Te i w0
4 sinl o (i) If u'is a homogeneous function of
flx)= > & . x and y of degree n, show that
0 x=0 2 2 2
) 0 07U o‘u o 0'U
Kl o2xy—try —5=nn-1lju
P Y o (n-1)
. -1
sin™ x S
(9) If @MW) Y= J—Q’ |x| <1, show that :
- _ w G5t n-TIeF x B% y I T ToW 2,
(Ordeat @) ed @
i) W-x*)y,- P 2 2 2
; ( )92 3xy; -~y =0 f%+2xy———§xg +yga—g:n(n—1)u
(i) (l‘xg)ymg *(2n+3)xyn+1—(n+l)29‘n =0 Z y %
3+27° _ 3 (Sem-1/CBCS) MATHG/RC/G 11 Contd.
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(b) If z=log tan (y ] then' verify

0’z H 0%z
Oxdy Oyox

I z=log tan(-)yz), Cor% Fopol el T4

6%z - 622
oxdy oyox

¢ (i) If u=xsin (—EJ +ytan™ (f],
_ Yy

X
find the value of

du ou
o il 5
ox t Y5y WD

X

i u=xsin! [gj +ytan™ (iyc-] ;
ou_
(0% (1,1) RRvpe X ——+ Yy 5 ay
T e 2w

3 (Sem-1/CBCS) MATHG/RC/G 12 -

(i) If

I
f(x: y)= ﬁ’ (x)y)i(0,0)
0 y ('xJ y) = (0,0)
‘ show that f, (0,0)= f,. (0,0) __ 5‘

)
= £ (% y)= }% (x,y) = (0,0)

0 (x’ y) = (0’,0)
(o0 (& @, foy (0,0)= fye (0,0)

(d) (i) State Euler’s theorem on

homogeneous function and verify
., e SR
it for the function o +y3

S

I T 2O SAAMIGR Ui fovall
WWWuWWWW
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(i_i) If f(h)=f(0)+hf’(0)+hE;f"(9h),

0<#8<1, find 9 when h=7 and

s

o F(R)= £0)+ rF0)+ 1 £ (o)

2
0<f<1, (OCF g 3 3 7 =1 T
h=7 9@ flx)=——
1+x

(e) Using Maclaurin’s theorem, expand
cos x in ascending powers of x.

(eI GARAMICH! 2T 1] cos xaﬁz&ﬁeﬁﬁr |

x 9 999 ZAR] F4 |

() (i) State Lagrange’s mean value
theorem and verify it for the

function. f(x)=1Ilogx in [1e]
: 2+3=5

(FTARMGR TG GALCER Sies! =i
SIS 21 efe T f(x) = log x IAE
[1,e] S@aRETS e 71 |

3 (Sem-1/CBCS) MATHG/RC/G" 14

(i) Evaluate (< ﬁ‘ﬁl ) e 2Ye+2Y2=5
\ ] log tan x
0 50 log x

G tim e* —e* -2log(l + x)
x—0 xsinx

(@ If y=cos(m sin™x), prove that
(o {(1-2F )\ (n-aF -2} <)) )
Ril Yy =cos (m sin™? x), (S8 & | ¥4 (@,

(4.), = {(n-2F ~m?} (0 - 47 -2 (07 - m?) @2 - m?)(om?)

i
(h) () Let f(X)=(x—a)008(xﬂa} for

x#a and let f(a)=0. Show that

fis continuous at x = a but not
derivable at that. 0

NEO A S |

%z O @ T fa)=0 | ST @
foem x = a e aRivE, 58 sam

DTN
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sinx .
y f(x) i +cosx, if x#20
(ii) Let ] & -
: 2 4 L =1
Show that f(x) is continuous at
x=0. ' i 5
Sm’)_c+cosx, if x#0
@a f)=y x

2 , ifx=0
(ed @ f(x) ToW x=0 Rqe =iz |

: 3,.3
i () Ifu= tan™ [xxi‘!"j J, prove that

xa—u +y—éE =sin 2u. Hence

ox oy
deduce that

a2 2 2
x2Z u+2xy . + 26—”:(2cos2u—1)sin2u

0x2 oy~ oy*
5+2=7
[ x° +y3 |
I u=tan"” , COUT asie
xX-Y
0 0 .
T @ x—g+y—u=sm2u | 219
: ox oy -
2191 ATT F @
2 2 2
x2§-—1£+2 e sy 2 = (2cos2u -1)sin2u

2 ooy Y ogf

3 (Sem-1/CBCS) MAT HG/RC/G 16

_ i) If u= f[%), show that

xau +y%=0
0x oy

G) (i) Show that the function

2 2
i [T ifx2+y2¢0

flxy)= xyx2+y2
0 ifx=0,y=0
is.continuous at (0,0) )
medl @ T
22 2
% U N af e gt 0
Floy)=1"" ey
0 if x=0,4=0
(0,0) e iz |

3 (Sem-1/CBCS) MAT HG/RC/G 17



(i) Using Lagrange’s mean value OPTION-B

. theorem in [a, b]. Prove that ' ' Paper : MAT-HG-1026
b-a - ‘
o (tan“llb—tan'la( 2 CZ for
+. . léa _ - (Honours Generic)
positive values of a, b. S
CeT91SIT
| G- TGN GoAmICH! e TR (Analytical Geometry)
la, b] SEARETS, N w6 @
b-a '
: (tan%lb—tan"la( b-a Full Marks : 80
I+b 1 ggt?®

Time : Three hours

a, b s 9T I |

: The figures in the margin indicate
full marks for the questions.

1. Answer any ten questions: 1x10=10

Rizricar w2t e Ted ¢

(i) What is the locus represented by the

equation ax? + 2hxy + by” =0 ? '

ax® +2hxy +by® =0 ATSIGE  F
el T2 |

3 (Sem-1/CBCS) MATHG/RC/G 18 3 (Sem-1/CBCS) MAT HG/RC/G 19



@)

(i)

(iv)

(v)

If the lines y=mx and y=mx are
conjugate diameters of the ellipse

2 2

£ =1, then write down the value
a® b>

of mm'-
x2 2

M — +?=1@9{§@y mx
a’ ,

y = m'x Tolal A J ==, (3@ mm'
i ol |
Write down the parametric form of the

equation of the circle x?+y? =a’.

x2 +yl2 _ g% IS ATIDT ABfre 3T
Bt I -

What is the general equation of a plane
parallel to x-axis? '

- XS AGEIE (2 YRS e e

o

Write down - the centre and radius of

the sphere given by the equation
X2 +y? +2° +2ux+2uy + 2wz +d =0

x* +y* +2° + 2ux + 2uy + 2wz +d = 0

I (AR (T o g &4l |

3 (Sem-1/CBCS) MATHG/RC/G 20

(vi)

(vii)

Write the condition, if

ax? + 2hxy + by® =0 represents a pair
of perpendicular lines.

ax2+2hxy+by2=0'3, G AT
AFOIE 24 e ({2 [hslel 99 59 T
40 |

Write the condition that the general
equation of the second degree

ax? + 2hxy + by? +2gx +2fy +¢c =0
may represent a pair of straight lines ?

o qeT AR ATIFe
ax2+2hxy+‘by2+29x+2fy‘+c:0 &
(@IF FREEN JORE 5SCo! |

(viii) Define a conic.

5P O el frd |

(ix) Write the equation of the normal to the

parabola y? =4ax at (am —Qam)

y2 =4ax Wf\’@@ (amz, —2am) ﬁ“'{\'ﬁ ol
wifeTaa AR 7| |

3 (Sem-1/CBCS) MAT HG/RC/G 21 _Contd. s



(x) For what values of g, the transformation
x=x'+2, y=ay -3 is a translation ?

a3 W99 A@ x=x'+2, y=ay' -3
FAIEICO! BT BT 2

(xi) - Define conjugate diameters of an ellipse.
Toige «OIF I JPR A o |

(xii) Find parametric equations of the line
passing through (4, 2) and parallel to

v=(-1,5).

(4, 2) @ SR @RT = (-1, 5) T MG -

@9 25l TR [T 4t |

(xiii) Find the distance between the points
(1,-2,0) and (4,0,5).

(1,-2,0) 1< (4,0,5) 7% 757 e wag e
|

(xiv) If 4=i-3j+2k and =i+, find the
magnitude of §j+7.
MW dG=i-3j+2k W G=i+], (O
i+ 9 RS Nefa w1

3 (Sem~1/CBCS) MAT HG/RC/G 22

(xv) Define dot product of two vectors.
| Ol (S i s ke fm |

(xvi) Find the unit vector that has the same
direction as i =i-2j+2k.

ii=i-2j+2k I Mo O3 (o9 ey 1
(xvii)What is the value-of i. (ix j) ?

i(ixj) 399 &2
(xviii) Find the point on the conic

8
=3-4/2 cos6 whose radius vector is

Ly
4.
8
?=3—\/§c089 (e @oiqe Al 7 B
ey =t T'e PId (oF 4|

Answer any five questions : 2x5=10
Rigplzat =ioor e Teq frai 8

(@) Find the equation of the line

3x+4y-10=0 when the origin is
transferred to the point (2,1).

TR (2,1) Rtet e +Re
3x+4y—10=0 TIFTOR &F Folleg 29
g SR (@I TS gErT w2 |
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(b) If the two pair of lines

x2 --‘pry—y2 = 0.and
x? —2gxy —y? =0 be such that each

pair bisects the angle between the
other pair, prove that pg+1=0.

aﬁ x2—2pxy-—y2=0 i

(e)

Find the centre of the ellipse
2x? +3y® -4x+5y+4=0

2x2+3y2—4x+5y+4=0 AT (X
fefm =i :

Define pole and polar of a conic.

x2 _quy—yQ = O W W
TS SRS WS (PO TARAGT
2y, oM FN @ pg+1=0 . {g) Prove that the equation

51 e 43R % SAAEAR K |

- 2x% -5xy+3y* -2x+3y =0
represents two lines and find their

point of intersection.

(c) Find the angle between the vector "
i=3i-4j+12k and 7 =-4i-3k. ‘

fi=3i-4j+12k 9% =-4i-3k (9

' eiel 91 @, 2x% - 5xy +3y® —2x+3y =0
7O ER (el el |

% I TECER] [Reetel T ST TR (R

1 % 2 |
(d) Find the vertex and focus of the e fe =

parabola 4y?-20x-8y+39=0. ' () Find the angle between the lines

represented by the equation

4y? - 20x -8y +39 =0 SRIEHR TR ac® +2hxy +by? +2gx +2fy+c =0
SIES Bt ax2+2hxy+by2+29x+21y+c=0 :
el Rt 1 TREERI O e (i
o 31|
3 (Sem-1/CBCS) MAT HG/RC/G 24 3 (Sem~-1/CBCS) MAT HG/RC/G 25 Contd.



(i) Find the joint equation of the
' straight lines which bisect the angles
between the two lines given by

3x% +6xy-y*=0-

3x2 +6xy—y? =0 (FAEI TS (IS
TR TolEd (Y ATR! [ |

() Find the direction cosines of the
vector i=2i+3j+4k.

fi=02i+3j+4k (TFR s Fefa

3. Answer any four questions : 5x4=20
Rz bifab! e Tes il 8
(@) Transform the equation
x? +2xy tan 2a - y2 =a® sec 2a to

rectangular axes inclined at angle «
to the old rectangular axes. '

X2 +2xy tan 2a - y? = a® sec 2a
FANFIICEIE T BIOD A STHACATTE FHoATST

4 TS T TFA SFel SRS oIS o
@l FE |

3 (Sem-1/CBCS) MATHG/RC/G 26

(b) Find the equation of the pair of tangents
from a given point (x;, y;) to the ellipse

: xQIyz
a6t f{fwe /Y (x, y,) I R ?+F=1
oigatat Bl TR e Fef

_(c) Show that the product of the
perpendiculars from any point

(x,, ) on the lines given by
ax? +2hxy +by® =0 is

axf‘ + 2hxqy; + byf

Ja-by +4n

yedl @ ax® + 2hxy + by? =0 TR
el (@1 o esie R f
(5, ) T =1 Al T TOIT St

axf‘ +2hxy, + byirZ

J(a ~bf +4n°
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(d) Find the equation of the tangent at
(x;, y;) on the conic
ax? +2hxy+bg,j2 +2gx+2fy+c -0
ax® + 2hxy + by? +2gx +2fy +c =0
AT (x, y;) BT =1 ATeae Fefm
1
(e) Find the centre of the conic
ax? + 2hxy + by? +2gx +2fy +c =0.
Hence show that parabola is a non-
central conic.
ax? + 2hxy + by? +2gx +2fy +¢ =0
A (T T 3 R (e @,
YEgS GBI ST 15 |

(f) Find a vector that is orthogonal to both
of the vectors u=2i-j+3k and

b=-7i+2j-k.
d=2i-j+3k W% =-7i+2j-k (9N
7iod TeNE 9 (@A (839 «fo [y

(g) Find the equation of the directrix of

: [
the conic —=1+ecosé
r

é=1+ecost9 xﬁ°@@ﬁﬁqﬁ@ﬁﬁ 341 |

3 (Sem-1/CBCS) MAT HG/RC/G 28

(h) Find the asymptotes of the hyperbola

(0

xy+ax+by=0.
xy +ax+by =0 “_FEH ST (AR
e =0
. Answer any four questions: 10%x4=40
fRClcl BifD! e Tes frat ¢
(i) (a) Show that g. (_sz) is numerically

equal to the volume of the
parallelopiped of which the three

concurrent edges are @,b,c. 9

e @ a.(pxc)9 a,b T ¢ T
it e 2 Ffio! o o1 (1R
SRR CE]

Find the equation of the line in
3-space that passes through the
points (2,3,4) and (0,-1,2). 5

(2’3:4) i (0’—1 ,2) ﬁ?@ A6 &R
@ TR e =i
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(i) (a) Find the area of the triangle S (b) 'Find the equation of the polar of

that is determined by the points P (x, y;) with respect to the conic
ol ' . | :

P(5, 2:1)’.Q(2:4:2) anq | ax2+2hxy+by2+29x+2fy+c=0.
0 (3,4,5)- D . .

| ' .
p(5,_2,1), Q(2,4,2)'\'5ﬂ§= | ' qx2+2Pvcy+by2+29x+QJy+c=O
0 (3,4,5) = Fort =1 fageer | 115 FACATE P (x, yy ) I & AT
Fifer fef w1 '

o <= |

i h k nd scalar _
2 E;;:ct:ones O\;e;_o; +aSj+5k st (iv) (a) Find 4 such that the equation

5=2i-2j-k. 5 ’ - 12x% —10xy + 2y +11x -5y + 41 =0

' : j may represent a pair of straight
§=2i-2j-k (TN 87TO < lines. 5
@ =2i+3j+5k I AW =% wfire 1252 -10xy +2y> +11x -5y + 1 =0 4
v ferl woE Tl @ 1§ AW Fefw =0

(iii) (a) Find the equation of the
bisectors of the angles between
the pair of lines given by | ) 5

ax? +2hxy +by* = 0.

(b) Find the polar equation of a circle.

<51 ge7 & e Fef v |
ax? + 2hxy + by? = 0 TR el ‘
[ [OIFR e (S AaRLeFI
A o 7|

3 (Sem-1/CBCS) MATHG/RC/G 31
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w (@
(b)
wi) (@)

(b)

Find the condition‘ that the line

wy=mx+clis ‘a tangent to the

parabola y? = 4qx. . 5
y=mx+c @NSH y? = 4ax wifdges
oG (AT 5O Wefm T

Prove that the sum of the reciprocals
of two perpendicular focal chords

of a conic is constant. 5
e TN (T B! I S o7 (=
ifS TiT afsawr TR 45|

Remove the xy term from the
equation 3x? +2xy + Sy2 D)
by rotating the axes. 5
PR TAE 3x7 + 2xy + 3y -2 = 0
TEPET A xy o ST 9 |

Find the equation of the pair of
tangents from a given (x;, yj;) point

2 .
to the ellipse ——+——1. 5
P a? b?

2 2

L‘]ﬁﬁ%ﬁ‘ﬁ(xl,yl) ad +%—--—1

%wrﬁﬁmwwwm«wﬁawﬁwaal

3 (Sem-1/CBCS) MATHG/RC/G 32

A

(vii) (a)

(b)

If the equation

ax2+2ftxy+by2+29x+2]y+c=0
represents a pair of parallel
straight lines, show that

ax® +2hxy + by* +2gx +2fy +c =0
SRR AR FAGIE FACIIF IS

# a_h_g

If [ and [' are the lengths of the
two segments of a focal chord,

prove that 7+%=—, where (q, 0)

Loty ill

is the focus of the conic. 5

@I Gofe IS TP oI 9o [ o
i .
P AW T @ < +—:E TS (a,0)

LT
3] dife |
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(x) (a) If e, and e, be the eccentricities
of a hyperbola and its cbnjugate,

(viii) (1) Show-that the lengths of the | 1
semi-axes of the conic 1 show that T3+ —5 =1 5
d . el 82 i v
2 2thes Tl f i .
ax’ +2hxy +by” =d € o p
Jfe _ | , T AT G STl e, R
d 5 ‘ 1l S5y
and e , ' e, T, A W @ 5+ =7 =1
TED .
2 _ s O .
wc® + 2hxy + by? =d RIS (b) If (ati?, 2at1) and (atg‘, Qatg) are
- 5 d | the two end points of a focal chord
SRS Ji v h Ja-h S of the parabola y2=4qx, prove
o el | N | . that #t, =-1. A
() Find the condition that the line ~ - y? = dax RS TR w1 o
Ix+my=n touches the ellipse _ w3 999 9% 019 TS (atf, 2atl) e
X_2+2_2_=1 5 (at22, Qatg') 20, A = b ==
al b | (x) (a) Prove that the eccentric angles of
the extremities of two conjugate
2 yQ _i | ‘ semi~d.iameters of an ellipse differ
betmy=n . (RATSTCA ?+E§ =1 ; by a right angle. 5
) o B9 @ 9O TR oie Sy
Toges = 71 5eCsl Ol p
- OGP AR TARTS =l sty
GF A |
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(b) If the polars of (x;, y;) and- (x5, Ys)

x2 2

- w.r. to ——35=1 are at right,
2 b2 g

angles, fhen show that

b4X1X2 + a4y1y2 =0. S

2y :
a_z"'bT=1 mmw (%1, Y1)

o (xz,yg)ﬁ“'@@?l &l ol
AW T (RS @ |

b4x1x2 + a'4y1y2 =0
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